AP ICET - 2018
Question Paper Preview

Question Paper Name: AP ICET 2018 2nd May 2018 Shift2
Subject Name: AP ICET 2018
Duration: 150
Analytics Ability
Display Number Panel: Yes
Group All Questions: No

Question Id : 6116303554 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (1 to 20)
Question Label : Comprehension



Data Sufficiency &aro% DUTRS

Note:In the following 20 questions each question 1s followed by data in the form of two statements labeled
as I and II. You must decide whether the data given in the statements are sufficient to answer the
questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:
a) Mark choice (1) if the statement I alone is sufficient to answer the question.
b) Mark choice (2) if the statement II alone 1s sufficient to answer the question.
¢) Mark choice (3) if both the statements I and II are sufficient to answer the question but neither
statement alone 1s sufficient.
d) Mark (4) if both the statements I and II together are not sufficient to answer the question and
additional data is required.
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Sub questions

Question Number : 1 Question Id : 6116303555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the positive integer n odd?
&5 Yrgrogo n 83 R057°(?
I.  2niseven.
2n 8 ;‘boas?g
II. nntl)=6

Options :
1.1

o]
L2

Rl
[ Y

Question Number : 2 Question Id : 6116303556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Is X an integer?
X f.g_jﬂgf*nsm?

I.  5xis apositive integer.
5X & a’;:_jvg’oéo
H: 1Ox=1

Options :
1.1

]
L2

Rl
[ O Y

Question Number : 3 Question Id : 6116303557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

.
gt
N
3" = 2" eosychooe?
I. k=n+l
II. nis apositive integer
n & f@ﬁgﬂoéo
Options :
11
33
4. 4

Question Number : 4 Question Id : 6116303558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If X 1s a positive integer, 1s the HCF of 150 and x a prime number?
X 653 Lrgroso eand, o925, {150,x) D5 Doy VAT ?
[. Xisaprime number.
X DT ‘é}c&:}g.

II. XxX<4

Options :
1.1

k-2
L-2

oW
[ Y

Question Number : 5 Question Id : 6116303559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If n and m are real numbers. isn<m ?
TPRD ‘5}0;}5 e n, m %, n < M e9)Hedo?

I n°<md

II. |m|<|n]

Options :
1.1

k-2
L2

oW
[ R N

Question Number : 6 Question Id : 6116303560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the integer n divisible by 45?
45 & rorogo n wrhobeBE ?

I.  nisamultiple of 36
36 ados), Moeszo n

[I. The units digitinnis 0

n@ﬁaé&cﬁag"énﬁa{)@o&

Options :
1.1
2.3
3.3
4 4

Question Number : 7 Question Id : 6116303561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the integer n a prime?
T{J_‘}"g“oéu N PT°R “ﬂaoajﬂé?

I. 4=n
IL. n=l
Options :
1.1
33
4 4

Question Number : 8 Question Id : 6116303562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Options :
l.

k-2

Al

Is the positive integer n even?
A f.p_jﬂgﬂoéo n “'@6‘&:0;?5?

1

-2

[ Y

4 .
n- 1s odd
4
n 53?\3&0;}:.-5
5 %
2n° 1s even
5
2n° 26 “*003-’-",5

Question Number : 9 Question Id : 6116303563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the cost of laying an outside road all around the circular field?
BTSP6D T'L0 P DD &) HOHTEAS Jodh B8 VDHA?

Options :
l.

k-2

o

II.

1

-2

[ R Y

The breadth of the road is 5 m.
28 E:Jc‘.ﬁe.ub 5 9.

The diameter of the field is 500m and the cost of laying the road is Rs. 40 per sq.m
Feo aIrg) TR0 500 ., &t SIS 6 . 40/ 3.2,

Question Number : 10 Question Id : 6116303564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Options :

o]

i

L2

J= L

0<0<90"— Tan © =?

© 1s an angle in a triangle.
8 Sz S°D S0 O

si118=§



Question Number : 11 Question Id : 6116303565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the integer p a prime number?
T’ng"céo P R ‘;303;315?

[.  2p has exactly 3 factors
2p S R8T 3 erasren Gotran

II. pisaneven number

p 28 26 "ao&)}g

Options :

k-2
L2

B
[ A W

Question Number : 12 Question Id : 6116303566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is|15—m|+Hm—15|>15?
115 —m| +H m— 15| > 15 evadehoosse?

m?>6

) m< 7

Options :
1.1

k-2
L-2

oW
[ Y

Question Number : 13 Question Id : 6116303567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For a positive real number x. is X° = 125?
3
08 AR T°RD “fooa:;?s X2, X' =125 eas)Heooe?

. x>4
IL.. 26506
Options :
1.1
33
4 4

Question Number : 14 Question Id : 6116303568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the area of the rectangle ABCD?
68 SS0620 ABCD a3ng), 7700 Jodh?
I.  The circumference of the rectangle is 24 cm.
BGSSOBR) Sotar Eweh 24 0.2
[I.  The sides of the rectangle are in the ratio 1 : 2
EGHS06RXD Faden 1: 2 DS S &y ow

Options :
1.1

B
o I O T

Question Number : 15 Question Id : 6116303569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘What 1s the cost of each table?
28 5% e85 &8 DoH?

1. 2 tables and 2 chairs cost Rs 10.000/-
2 éﬁmﬁb 2 SJE:}'DP.D A8 $.10,000

Im. 3 5:.8‘3&1: 3 5&1:14’53} &8 6o 15,000/ -

3 chairs and 3 tables cost Rs 15.000/-

Options :
1.1

w1
N W T

Question Number : 16 Question Id : 6116303570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the two digit number xy?
GocloSe) oY XY 2)0eh?

[.  xyisamultiple of 97
97 £ xy fOedaasdn

II. x+ty=6

Options :
1.1

B
o T e 1



Question Number : 17 Question Id : 6116303571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TA and TB are tangents to a circle from an external point T. What 1s the length of the chord
AR?

TA. TB en a8 5773 erd] Docod T Aok D8, Swen.d,8 2§ AB cﬁnsa T EDot?
I.  Radius of the circle is 6 cm
B8 T§I"Go 6 0.2
= o
1I. AT=8cm

Options :
1.1

k-2
L-2

oW
[ Y

Question Number : 18 Question Id : 6116303572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the sum of the two integers a and b?
GocdH QrYeoSTeD a, b & 2o Joeh?

. LCMof{a.b}=576
g.J°.00 {a.b}=576

II. HCF {a.b} =4
.20 {a. b} =4

Options :

k-2
L2

oW
[ R N

Question Number : 19 Question Id : 6116303573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the value of 67
O e Jdoeh?

. Thane I). .
U ! matn}{[t ) ]15 singular

1

[mlll = ﬂ WS I TG HISHY
I 0<O<m/2
Options :
11

33



4.4

Question Number : 20 Question Id : 6116303574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For three non empty sets A, B and C. what is n(AuBuC)?

I. n(AuB)=064
1. nBuC)=124

Options :
1.1

k-2
L2

oW
[ N

Question Id : 6116303575 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (21 to 30)
Question Label : Comprehension

Problem Solving 220305 F¢5
Sequences and Series ®@Jogaren, Feavew

Note: In each of the Following 10 questions a sequence of numbers or letters that

tollow a definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence without
breaking the pattern.

Arsd: S0 AOND 10 HF) 05 9B DI S BDND Dowgen T BETReD 2D w8
SRGRD DAHAF) FBROT) 0. VA 035D 279D ADND TR DAyER
Moo W0 0 &aread ;Jmlg)z) OADE Aoards offo Senrition®
L7rBotrd.

Sub questions

Question Number : 21 Question Id : 6116303576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(5.14) : ( 25.196) :: - (81.49)

Options :

L (3.7)

, 21.7)



3 (7.9)

, 9.7)

Question Number : 22 Question Id : 6116303577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

625 : 232966
Options :

, 8

(%]
h

Question Number : 23 Question Id : 6116303578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

122 2290 : 442 ;

Options :

. 19T

-
|
Y
o

; 7180

Question Number : 24 Question Id : 6116303579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

20736 : 144 : 288

Options :

1 72844

, 82944

;. 82844



4 72944

Question Number : 25 Question Id : 6116303580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

WU FD 72X

Options :

; RP

RS

]

5 SR

4+ PR

Question Number : 26 Question Id : 6116303581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

X2 22X X3 3XAIXAD X2 4AXH4
Options :

. X -6X*+12X-8

X -6X7-12X+8

L2

X +6X7+H12X+8

Lad

i X H6X-I2X-R

Question Number : 27 Question Id : 6116303582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5426 1 V3H/2Z - 18+ 2477 -
Options :

VT
VT A7
AL A7

L-2

Laa

o VIIH/7



Question Number : 28 Question Id : 6116303583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(327 x 1086 o (5 X1Px13):

Options :

16

L

fad
-2

Question Number : 29 Question Id : 6116303584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[3 Jors. sm
i 5

e

LI

e S

Question Number : 30 Question Id : 6116303585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(11.12) : 265 :: 313
Options :

(12,11)

o (13.11)

, (14. 10)



Question Number : 31 Question Id : 6116303586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.
805 AND V3) " 10 VIS Hocsddn
Options :

| 2X° H3XC-5XH+6 =0

X IR UESX6=0

-2

; 2X° H4X7-6X+8 =0

5X° -8X*4+6X-7=0

Question Number : 32 Question Id : 6116303587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8068 BN VB S DO T'IS (DGorsda

Options :

119

129

L2

Question Number : 33 Question Id : 6116303588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8065 DD DB S DO F'AB (Do -

Options :



L =

A5 Gl
I
15 Tl

Question Number : 34 Question Id : 6116303589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

3008 AN g_;‘-s-le_aéﬁ 208 9°08 B8

Options :

L (3.4.3)

L2

42 6, F)

(6.7.9)

Question Number : 35 Question Id : 6116303590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.
8068 D DB S DO TS (Do

Options :

, 496

a
-2
o

4 496



Question Number : 36 Question Id : 6116303591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

a0 DE: S06 AN OB 28 DDBRaND DoDHIEDY BT 0w, &
DODATYY (Do) HOCDHA VATFETTOS Yo Qrdowod.

1297, 626,257, 17, 2.
Options :

96

[E%]

Lad
-2

Question Number : 37 Question Id : 6116303592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

H0DE: S0t BND Py 28 DN DoLEFDY FBLTYaw. &
DoAY (Do) HOODA RAFETTOE erPeRd Qrdowod.
4. 18, 48, . 180, 294.

Options :

1. 98

99

=]

, 100

4 108

Question Number : 38 Question Id : 6116303593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: Sodd @D')b D3 e 28 DABHOND JaHIFE) IBRPT) oW, &
DDA Do) HOADHA VAFEFTOS PR RrOowod.
Z1A Ya¢. XUE. V251

Options :

. WG

wi2G

-2

W16G

Lad

W24G

I

Question Number : 39 Question Id : 6116303594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

H0DE: S0t BND Py 28 PDNSIoND DoLEFDY FBRTY . &
DoAY (Do) HOODM PATFT TS erPeRd Qrdowod.

14, 12, 15, .24, 30
Options :

17

19

-2

Question Number : 40 Question Id : 6116303595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: Sodd @D')b D3 e 28 DABHOND JaHIFE) IBRPT) oW, &
DADHATDY Do) HOADHA VAFEFTOS arPeR QrOowod.
0. 6,20, 42410

Options :



, 30
; 26
4 50

Question Number : 41 Question Id : 6116303596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

Ha0DE: Socs "aﬁ)')r‘f) DF 0 28 PHONBAD oDy ﬁﬂé}@;}n&m. es
DDA (Do) HOADHA VATEFTOS arPeR RrOowod.
= E
247720 ——
Options :
1
| 1440
1
2. 3600
1
3 5040
1
4 40320

Question Number : 42 Question Id : 6116303597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: S0 NN HHen 28 PDNBAND DADEFDY FOYPT)ow. e
DoAY (Do) HOODM PATFTTOS erPeRd Qrdood.
3. 1029.66;, 218
Options :
142

1

5 LT

18



Question Number : 43 Question Id : 6116303598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: Socs @r‘.’)')sfn D3 e 28 DSBS JAHIF) IBPT) oW, &
QODHATDY Ao HOADHA PAFEFTOS PR QrOowod.

12 , 10

20. 16; 1

T
b | =
;

Options :

10=
1 7

11

]

[r—
-3
=] |

=
nTho

Question Number : 44 Question Id : 6116303599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

HEnDE: S0 @C)')x) D¥en 28 PDNSBAD JaDArDY FOPT ow. e

DoAY (Do) HOODM PATFTTOS erPeRd Qrdood.
3.3.9. 17, i - -

Options :

19

23

kad
-2
WO

()
fad



Question Number : 45 Question Id : 6116303600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

a0 DE: S06 AN OB 28 DDBHoND DoDOEYY BT 0w, &
DoAY AdDo) HOADA DAPTFTOS PV DPBoIE.
MNPT. JKMQ. GHIN. ABDH

Options :

. DGKE

DKGE

-2

, DEKG

; DEGK

Question Id : 6116303601 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 48)
Question Label : Comprehension



Data Analysis &gro? D300

The followmg table shows the production of different types of two wheelers from 1993 to
1998. Study the table carefully and answer the Following questions

Sobd fbggs 1993 ooc 1998 Ho SOSN8 0NN DG GEAVY OEDE ToPHHDOKD

BeVYBIB. & DHEN BT BE{ODD0 B o 8BS DF) VL BTLVORL TooOd

No of two wheelers 1n lakhs (&saogav@mm:e_) “"cooajg 9_35..926 )

year

"ﬂcaﬁﬁ:}ﬁa

—f 1993 1994 1995 1996 1997 1998

Type

BEAD |
A 36 34 40 35 375 40
B 20 22 25 23 195 18
L 14 22 16 25 29 35
D 60 62 67.5 75 76 80
E 40 45 48 50 80 105
F 45 52 55 60 e 56

Sub questions

Question Number : 46 Question Id : 6116303602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the maximum difference in the production of any two types of two wheelers for the
years 1997 and 19987

1997 08050 1998 Dosdeh 6005 D Toth B850 BNE TPErdANY ] &SND &'
(1823 83650 Dos?

Options :

, 143.50.000

, 147.50,000

1148.75.000

Ll



, 149.25.000

Question Number : 47 Question Id : 6116303603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The approximate percentage increase in the total production of all types of two wheelers in
1997 in comparison to 1995 was

1995 & ﬁﬁaﬁ@‘)m 1997 & 0y e B TEPOHVY ESND Ao DGR

F°So eagwo@rr
Options :

165
3

3

18
5

L2

-2
-2
| b

Question Number : 48 Question Id : 6116303604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many types of two wheelers have shown a continuous growth in the production for the
given period?
B8 50 DRSS I BBV AEE TIPDAVLD GB\IS” ABoSE2D A

D8 ?
Options :

1 1

fad
Ll

Question Id : 6116303605 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)



Question Label : Comprehension

The pie diagram given here shows the distributions of students mn six schools A, B. C. DE
and F 1n a town. Answer Thefollowing questions based on it

AEYE AV D Do 28 DS e8> rGTwen A, B, C, D, E dan F o’
Dmﬂﬁc&m DRI BeNncod B esTPGoTP B3R0ED £old 30 ©3) VO DAFEEDo
oraidoc

STUDENTS DISTRIBUTION

Sub questions

Question Number : 49 Question Id : 6116303606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the number of students in all the schools of the town 1s 5400 in a year then the number of
the students in school E 1s

ws DoBS G ) FFT VLS’ Drrjde Ando voay 5400 Land FdTe E D
Dw’égau 2oay
Options :

. 360

420

k-2

, 630

, 720

Question Number : 50 Question Id : 6116303607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In a year the total number of students in schools C and B together is 1800 then the number
of students in the school D that year is

28 28 DoBB 60" C 80w B FreTroed’d ando dorjhe Doy 1800 wand , e
RodIGo&" dTe D &' dahe Doay

Options :

| 420

480

B

Question Number : 51 Question Id : 6116303608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the difference in the number of students in B and Cin an year is 250. then the total
number of students in that year all the schools in the town is

208 :ao:x:a;)does“ B &08ain C Jrdwreees’ D &’Jm“?gg.}u :aoa:éﬁ‘:) £3¢30 250 eo000ed es
DS’ ) FETVSE W & VODSBS'A Awgo e Doay

Options :

| 6300

7200

L2

8100

Ll

9000

b

Question Number : 52 Question Id : 6116303609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the school A has 350 students in a year then the number of students in the school E (in
thousands) in that year is

208 2oDSBH0S” ETO A &S 350 208 Jo(Bew eoB FETR E & D0dS B0 D

QE§Boew Doady ( 30e°)

Options :

| 0.48



L=
ot
il
wn

Question Number : 53 Question Id : 6116303610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which schools in an year the number of students in B and C together is double the
number of students

208 "«Jo.;ﬁejgdoeﬁﬁ D FsTos’ D Dcs“}ggau oy B fwdaw C T’ D i}cnsgab oy
G0
Options :

 A&B

A&E

L-2

A&F

C

Question Id : 6116303611 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (54 to 55)
Question Label : Comprehension



A Survey 1s conducted in 400 persons with regard to the readership of three national dailies
E .D and T revealed the following information:

170 read E. 170 read D. 190 read T. 50 read E and D. 70 read D and T. 60 read E and T. 30

Read none and 20 read all the three papers
Draw a Venn diagram for this data and answer the following questions

23D GIDAEe E D 08k T k0 t9dD 400 008 S50 XoeoBodd 28 Ko’
& $od DTG0 BDALIIN0B.

170 00® EQ . 170 &00& D Q. 190 00d T . 50 00d E 08030 D A, 70 vod D
200030 T D, 60 206 E 208030 T D 36 |, 30 2008 B S35 &00030 20 &00d
Q0D BEINTED

& DIFET) GDATHOD € DD DEPD) ALY $od BIYS PI) VL BTeeD ToaDOE

Sub questions

Question Number : 54 Question Id : 6116303612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many read either D only or T only?
D Q &rghan S T Q &rghad ST 2eddd?

Options :

1.

L2

200

170

Question Number : 55 Question Id : 6116303613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many read only E?

E R &rgho QDT dotddd?

Options :

1,

L2

60

70

80



90

Question Id : 6116303614 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)
Question Label : Comprehension

Coding and Decoding Problems &@&o4, A8A&0H R0 e

In a code. vowels of English alphabets are coded to a. P. v, 0. 1 respectively which each of
the consonant 1s coded to the third successive consonant cyclically. following this coding
process answer the following questions

28 86 & esoff egdare S°D e DA™ o, P. 1. 5. 1 0B & SHr 98 Drgosd
TP BT DBy DPED TPQOBL BSFatorr EE B, & Edoh HI0DLAL RV
8005 B VI LR BTV TG,

Sub questions

Question Number : 56 Question Id : 6116303615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Which letter is coded as H ?
D eg8o H e §& Sabheadod

Options :

1. ¢

X

4 D

Question Number : 57 Question Id : 6116303616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The code for the word ‘CYCLE" 1s
‘CYCLE® 278 §6&

Options :



. GCHP B

‘GCGP p

L-2

'GCHQ B

, GDGP p

Question Number : 58 Question Id : 6116303617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The code for the word ‘DOZEN" 1s
‘DOZEN’ &9 o792 §&

Options :

H3JPR
, HOHyR
"H3DPBR

"H3KPR

I

Question Number : 59 Question Id : 6116303618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word i1s coded as F 6 6 O?
D DB F550m §& Bokedod ?

Options :

. BOOK

BOOM

L2

BOON

Lad

, BOOT

Question Number : 60 Question Id : 6116303619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word is coded as P y 6 R?
D HSo Py 3R §& Saberdod?



Options :

, LIER

LOIN

)

, LIES

LION

I

Question Number : 61 Question Id : 6116303620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code ‘SROLFH" 1s coded for ‘POLICE’. then the code for ‘STATION"
28 §& &° ‘POLICE’ $ §& ‘SROLFH’ 9008 , 93 ¢ ‘STATION” 8 §&

Options :

. VWDWLRQ
VXDXLQR

&

- VYDYLRA

Lia

- UWDWLRQ

oS

Question Number : 62 Question Id : 6116303621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code ‘BUS “is coded as “YFH’. The code for “‘CAR’ in their code 1s
28 §& & ‘BUS ‘8 §& ‘YFH' eand , @i ¢ ‘CAR’ 8 §&
Options :

| ZIX

X7ZI

[E%]

3 XIZ

4 1ZX

Question Number : 63 Question Id : 6116303622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If CRICKET 1s coded as BQHBIDS then the word that 1s coded as GNBIDX 1s
CRICKET o BQHBIDS = & 3% GNBIDX = §& DODGEICD Do

Options :
| BOWLER

UMPIRE

[

; HOCKEY

, SOCCER

Question Number : 64 Question Id : 6116303623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If AMKNSRCP is the code for COMPUTER. then the word coded as KMSQC 1is
COMPUTER. D AMKNSRCP = & 3% KMSQC = & DADEICR Do

Options :
| EMAIL

PASTE

]

 ENTER

(]

4 MOUSE

Question Number : 65 Question Id : 6116303624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If FDSLWDO 1s the code word for CAPITAL then the code for HOTEL 1s

CAPITAL & &€& 560 FDSLWDO esond® HOTEL & £&
Options :
| KRWOH

KRWHO

L-2

KROWH

el

- KRHOW

I

Question Number : 66 Question Id : 6116303625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
38, Dvawo, wHBEL DAV

It was Thursday on Feb 15" 2018. What day of the week will be December 15™ 20187
2018 Dedd 15 & bdbardo esonod. 2018 Ehoebd 15 & arcoed” &ibley a0 ?
Options :

Monday

Dravardo

Thursday
5 (D00

Friday
;S0 00

Saturday
4 BT"00

Question Number : 67 Question Id : 6116303626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, Doawo, wHBEL DAV

A clock strikes once at 1’0 clock. twice at 2’0 clock and so on. A person started counted
from 5’0 clock in the morning and heard 69 strikes. the time when he heard the last strike is

w8 (Cordo 1 O oty O¢ 2LEFB 2 O ot 66 Boc F... €D (otren Fesrotd
28 D18 &0010 5 0LV (0L TE) DB 69 (Totirn T%) DCS B 53O (oL

Dowds Dawaio

Options :

L 11 am

1lpm

L2

3pm

4 4pm

Question Number : 68 Question Id : 6116303627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
38, doawo, wHBEL DAV

The acute angle between the two hands of a clock when the time 1s fifteen minutes past five
15
5 fiot® 15 Ddvaren Do e903§00S8 28 CairGo &5°D TocH e VAN

&30

Options :

0
T2 ¥

67 %°

L2

40
; 064

4 58%°

Question Number : 69 Question Id : 6116303628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, ddvawe, ¥HBEL DAV L

A 1s father of B and C: E 1s the mother of B while D 1s wife of F. If F 1s the father of E then
what 1s the relation between D and E

B cwboin C © dog A. B g o E. F awg) ardy D. E aws), Toooe F eond ,
9y E & D 3 (i) Ddooco
Options :

Sister
| b

Sister- in-Law
~ B/ andcen

Mother - 111 - Law
e9ENTT D)

Grand Mother
€960} 0} / a"a:i:rémé

Question Number : 70 Question Id : 6116303629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
38, Dvawo, wHBEL DAV

Three trans A, B and C start at a station in different routes to reach their destination 90kms,
70kms and 85kms away respectively. If they start at 10 a.m and move at respective speeds
45kms, 40kms and 35kms per hour. then the order in which they reach their respective
destinations 1s

A. B 08ain C e &00°eh Jen 2206 D30 rgrees” S 904.50. 708.a0 doBain
854.00 © ArGeeS” (o (AT S6I3 s VNN Aod BoLedoron. ©d 10 ot
£I0ENED DO (05 45820 . 40 8.50 B0ty 35 3.0 Do Do e9d e

ﬁﬁj"éﬂé @0 Savo

Options :
i ABC

B, .4

L2

L0488

4 By €

Question Number : 71 Question Id : 6116303630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, dvawo, BHBEL DAV

Anita left home for the bus stop 20 minutes late than usual. It takes 15 minutes to reach the
bus stop. If she reached the bus stop at 8.30 am. at what tume does she usually leave home
for the bus stop.

Q"EJ 2 9263 Aranren Zotd 20 Ddvaren SRR Qo) Aol LIODEVBBOB. LIy g":)
2 3602 15 DIaren HEWOH. es2D £y g»:: 4 8 .30 a.m 3 368, esad ey gvsa
a ::woa:uaé &) WaVOITEDS Qo) ool exaenddod.

Options :
; 7.52am

7.50 a.m

L2

3 7 S5am

=
4 1 58 a.m



Question Number : 72 Question Id : 6116303631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, ddoawo, BHBEL DAV L

Five persons A. B. C. D and E sit around a table such that A is diagonally opposite to E: C
and D are on either side of A. If there is only one person D to the right A. the anti clockwise
order in which they sits 15

E 2 ?:a.:ainn Qe A goiexn C andaiw Den A S TP E0EEDTTPA) DEN DM

og5en A, B. €. D aptoan E 28 Gee g Srdna) M. A S D Dap) w5 &5 9§58 D

€085 TP EPAND &) 500 DV Haes”

Options :
| ACEBD

ADEBC

-2

3 ABEDC

 AEDBC

I

Question Number : 73 Question Id : 6116303632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, HB0ODo, WBBEL DAV

If xAy = (x — 2y) + 2xy. then a non zero value of x such that xAx = 0 is
xAy = (x — 2y) + 2xy @003 xAx = 0 03§06 G0l 28 IPABO0 X D

Options :
-1
l &
-1
2. 2
1
3 2
1
4 4

Question Number : 74 Question Id : 6116303633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
38, Doawo, wHBEL DAV L

Consider the string of letters given below:
BCDEOEOONQRSOVOVOOBKBOBOO
How many letters are immediately preceded by two O’s and immediately followed by no

O’s
& OO FDYD BVET"D VoD S8 ol

BCDEOEOONQRSOVOVOOBKBOBOO
o O 20 DaDom Ao «ad0in @ ‘O ‘ Daodotys eteared 6&@% 295 TN ;'::};L.

Options :

1
L.

Question Number : 75 Question Id : 6116303634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, HB0ODo, WBBEL DRV

If « means ( )
p means +

¥ means +

0 means —

A means X
then find the value of 2A3 Y46 8 B 2 v 443

o e ()

P eacore +

¥ 90TP +

0 eI —

A ey X

XD 2A3 7458 B2y 4n3 =

Options :
1 42



30

]

3 18
4 24
Mathematical Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6116303635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e9o&ticdeh r:hmgﬁa

1 1 A
+ d= o
a* VY4+a*F4+1  a¥ F4a¥ 41 aF *4atVH1

Options :
0
l.
2 L
-1
3.
4
4.

Question Number : 77 Question Id : 6116303636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evoEricd megﬁa

Porai[l,( - : 5 = )_1—12

1+a?4a—2 1+a 24— %

a¢[}§( — - )_1—12

1+a?+a=2  14a2+4a*

Options :



al+1

l.
1
at+1
1
’ (a2+1)(a®+1)
1

al(a?+1)

4.

Question Number : 78 Question Id : 6116303637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evo&ricdes avmgﬁa

a:bh = 2:3b:cu2 45 =3a+b:b+c=
Options :
6

. 8

30

20
21

20
27

Question Number : 79 Question Id : 6116303638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
ev0&ie3S a»mgﬁa

In an alloy of 35 kgs the ratio of two metals A and B is 4:1. If 1 kg of metal B is added
then the ratio of A and B in the new allow is

35 Se5°0 w8 PSS 3005’ Bockd STy A, B o i@ 4:1. &JS 1 3¢5° S50 B D
SODB B3y W3S’ IT0S” A, B o DS

Options :

i =1

T2

L2

6:5
4 34

Question Number : 80 Question Id : 6116303639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evo&ricdes avmgﬁa

17 + 1242 =

Options :

1_1+«J§
{2
, 2443

A1—=AZ

Question Number : 81 Question Id : 6116303640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evo&ricdes avmgﬁa

If x = 2 ++/3, xy = 1. then zi e
W

x=2+4/3, xy—lﬁamé@@smr+r ( ==

Options :

V2

1.

V3

L2

3, 1
L
V2

4,

Question Number : 82 Question Id : 6116303641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evogricdeh avmgﬁa

The number of integers between 100 and 1000 which are divisible by each of 4, 5 and 6 1s

100 &509 1000 HELH e :g;ogoosue_:esﬁ 4.5, 6 05D 18 IS erhodeE Doy Road

Options :

5
n -

16

[

4 18

Question Number : 83 Question Id : 6116303642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evo&ricdes avmgﬁa

3k2+4k+12 . "
The number of natural numbers & such that —— —Isaprimeis

3kZ4+4k+12

. 208 DEH0S e&dﬁ:éepgarr &od SIS REENY ) 2030

Options :

0

2

()

Question Number : 84 Question Id : 6116303643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evoS el &mgﬁa

All the numbers 411, 752 and 1031 leave same remainder 8 when divided by ». The value
ofmis

n& 2rfose ‘6303359.13 411. 752, 1031 ew 28 30 8 mmw@m‘lm. 1 DD

Options :

32
L

k-2

Question Number : 85 Question Id : 6116303644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evosriedeh avmgﬁa

The sum of the greatest common divisor (GCD) and the least common multiple (LCM) is
403 and their LCM is 12 times their GCD. If one of those numbers is 124, then the other
number 1s

ot Dogw 183y Frdrderate ((rer), Y Fdordydeddo (S3tH) © Awdo  403;
T8 S0 T (e D 12 54w, DBS” w8 Doy 124 wand Gokd Doy

Options :

j ‘93

108

L2

; 124

Question Number : 86 Question Id : 6116303645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evo&icd s avmgﬁa

Options :
2751

| 496

2561

486

[E%]

2461
496

2561
4 496

Question Number : 87 Question Id : 6116303646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evo&icd s avmgﬁa

§J 27 2 T R L7 08 7 LR, + 0.8888 ... ...... =
Options :

g
3

L2

w |

Question Number : 88 Question Id : 6116303647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evogricds a»mgﬁa
A 7

. ; ; 5 9
If a,,a,,a; and a, 1s the decreasing order of the elements in { = ,—,—} thena, —a, =
= 771578 23

Ao BB
{-,—,—,—} &' daresre w38 rengdo a,, a,, A, 4, OB a; — a, =

oo |

17
56

19
56



Question Number : 89 Question Id : 6116303648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&ricd a»mgﬁa

The largest integer in the set {x € R: [x — 2| < 5} is

{x ER: |x — 2| < 5} 2 &5° 03D yrgrogo

Options :

6
L

Question Number : 90 Question Id : 6116303649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&tiedd avmgﬁa

If 16% of a property is worth Rs 3.52 lakhs then 25% of the property is worth (in lakhs of
rupees)

28 5065 16% Dend €. 3.52 wgoond &3 eses” 25% dend (vge drarabed’)

Options :

11
iy

9

-
L
"

Question Number : 91 Question Id : 6116303650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evostiedd avmgﬁa

If 25% of a number m is added to another number » then » increases by 10% then m:n =

208 Doy m e3° 25% 6’ Qo 7 S €90 DD 1 Dend 10% 2663 XD n1n

Options :
75

P

1.

N
]

-2
[

Question Number : 92 Question Id : 6116303651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evo&ricdeh avmgga

By selling a mobile for Rs. 5700, a trader would lose 5%. The price at which he sell it to
gain 5% is

208 DOPS W . 5700 QB 28 T 5% S0 TodTed. 5% erzo Torreods

e9eHD wmébuiné &

Options :

Rs. 6400
L

_ Rs. 6000

, Rs. 6200

, Rs. 6300

Question Number : 93 Question Id : 6116303652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eo&ricddh &&Jgﬁé

The cost price of an article is Rs 800/-. Its marked price is Rs 1000/-. The shopkeeper has
announced a discount because of which he incurs a loss of 10%. The discount percentage
1s

8 B F0) Do . 800/-. &2 PSS Do . 1000/-. &3 H5PereEdED DSD
A),080 S 10% RV aLred. &3 A7 0w TS0

Options :

16
L

20

-2

24

Question Number : 94 Question Id : 6116303653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eooSricdh aemgﬁa

P. Q. R are partners in a business. P invested half as much as Q and Q invested twice as
much as R. If R’s investment 1s Rs. 5630, then the mvestment (in Rupees) of P and Q
together 1s

P. Q. R &0 28 J°farCoe” ariaqaien. Q depeces” djo P dewed eoc; R
DEPCS” Defo Q DLV DEFC. R Déved M. 5630 90nd P. Q en RQEr Sud DD
Déped (draranes”)

Options :

;| 16.980

16.560

116.890

Lia

18.690

e



Question Number : 95 Question Id : 6116303654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eooStiedeh aemgﬁa

In a property A. B and C have shares in the ratio 5:6:11. If C gets Rs 3 lakhs more than A
then 50% of the share of B (in lakhs of rupees) 1s

28 esned® A, B. C arére Qi@ 5:6:11. A 508 C 8 . 3 L IO DY VD B
ToereS” 50% (vge ararabes’)

Options :
1.25

1.5

]

175

Question Number : 96 Question Id : 6116303655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eogticddh %‘mgﬁé

Two pipes P and Q can separately fill a cistern in 20 and 30 minutes respectively. There 15
another exhaust pipe R at the bottom of the cistern. If all the three pipes are opened at the
same time, the cistern will be full in 24 minutes. The time (in minutes) for the pipe R to
empty the full cistern 1s

poapew P Q en DaDCT w8 ﬁﬁéiﬂ DoDETIS DO 20 Daoaren, 30 Dawaren
SH0EF0D. & FOS cErroes” Trd) PP 3D DoY) R D0B. & QP DYV
2330 DDNB &5 FE 24 Dawarey” Doceod. Dot FAD HDos) R g Saberds HE
Ravoe (Daware”)

Options :

2
1. 5.—'

28

~



Question Number : 97 Question Id : 6116303656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eooSricdh aemgﬁa

Two taps A and B can fill a tank independently in 10 and 15 minutes respectively while C
empties the full tank i 20 minutes. If all the three are opened for 1 minute and C 1s closed
then extra time ( 1n minutes) to get the tank filled 15

Doanew A. B e DA s @"Q:ﬁ SR 10 Dawaren, 15 Dmﬁ“g‘fr& ~oaXIeITT;
Do) € Dot FYI 20 Daware® wd Sanrv. € Sre HopoR 1 Ddhe Dy
Do) o7 C D AR &8 FE Doctrdd DE o) Daae (Ddwares’)
Options :

3
B_
| 1o

3
i
10

B ]

Question Number : 98 Question Id : 6116303657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eooEriedeh aamgﬁa

The speed ( 1n kmph) of a person who crosses a 1200 meter long bridge in 12 minutes 1s

1200 aneag T (10 DoBd 12 Daware” orer®hd 2.8 558 Do (Hotrsd 4.20.
)
Options :

| &



Question Number : 99 Question Id : 6116303658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eooStiedeh aemgﬁa

A person travels from P to Q at a speed of 60 kmph and returns at a speed of 45 kmph If
total time taken 1s 3% hours then the distance (1n kms) between P and Q 1s
P oo Q 3 a8 a8 Mo 60 3.20. Driodd DY BMDOITR0e)” oty 45 4. ab.

Dol BIc>. o HAITE0 37 toben HAB P. Q © WSIEFG0 (3.20. wes’)

Options :

60

70

[E%]

80

90

Question Number : 100 Question Id : 6116303659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eooSrieIh %‘mgﬁé

P and Q can do a work individually i 50 and 40 days respectively. They together agreed
to complete that work for Rs. 900. Then the share of P ( in rupees) in this amount 1s

P. Q en 28 DID DEDAMT H6 50. 40 Fared® 2p0 SanOM. €8 DD P SoDEFDS

T . 900/~ e30fiseGo SLHT™) Q. € 2GS’ P ot (drarone”)

Options :
| 350



500

-2

3 450

400

Question Number : 101 Question Id : 6116303660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&rieddh megﬁa

A and B can do a piece of work in 20 days.The same work can be done by B and C in 30
days: C and A 1 40 days. If A works alone the number of days required to complete the
work 1s

A. B en 892 2,8 02D 20 Fered® Sobriom. 098 HID B, C en Sod 30 Fad'r; C. A
e SO0 3D 40 Fard’Ar dabiom. A w8 DD BY & DI P BoerdS DY
Barer Doag

Options :

80
1.

T2
60
48

Question Number : 102 Question Id : 6116303661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&rieddh &mgﬁa

; i j i ; ; 22
The perumeter of a semicircle 15 144 em. Then its area ( 1 sq.cms) 1s (Here takemw = T)

28 egd@o toenEeos 144 0.2, N T PFOf0 (29.20.a0. ©65°). (f‘a%a T =
% €9 ém%a]

Options :



Question Number : 103 Question Id : 6116303662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&rieddh megﬁa

The area of the pentagon ABCDE. given that AB=BC=CD=AE=2, DE=2V2 and 2BAE =
£BCD = 90° 1s

DooEe ABCD ° AB=BC=CD=AE=2 2, DE=22 3, +BAE = +BCD = 90° &3
P TP PTVo

Options :

1 34+ 32
. EENT
2+ 62

6V3

Question Number : 104 Question Id : 6116303663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&ticdd &&gg#

A hallow 1ron pipe of 63 cms length having outer circumference of 440 cm 1s of thickness

, ; : ) 22
4 cms. The volume (in cubic cms) of the iron used 1s (Take = T)

63 20.20. TFED), 440 Do.ab. e7rf LTS (o w8 & VD o dodo 4 o.ab.

AT &DAIAND @A VXD (0.200.00 ) (;rr = % @“m%“cd)

Options :



07712

107712

L-2

107714

108144

Question Number : 105 Question Id : 6116303664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evo&ricde a»a‘.ugga

The surface area of a hemisphere 1s 16632 sq.cm. Then its volume (in cubic centimeters)

18 (Takeﬂr = %)

208 wgf“fv;f:g_') edddoPTO0 16632 B.20.20. T odD8AT0  (30.20.20 ee5’)
( = % &S o(?:,)

Options :

176 X (42)3
176 x (42)°
176 % (21)?

, 156 x (42)?

Question Number : 106 Question Id : 6116303665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosriedd Fmab:gga

A rectangle of length / meters and breadth 50 meters has an area which is equal to the area
of a square with 90 meters diagonal. Then / =

[ 008 TF&p, 50 o denytie HESS6H DTofo, 90 Doeads DEdeaose

BSBCPIVV[0S DATD0. WP [ =



Options :

A
39

40

L2

140

81

Question Number : 107 Question Id : 6116303666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eogricddd a»mgﬁa

In 10 minutes a person can walk around a rectangular field of 300 m X 200 m. The speed (
in kmph) of the person is

300 0 X 200 & (0 SGH0TFT0EB0 chtr 28 O58 10 Danare” 80 oD, e H58
2o ((otrtd 4. . o &°)

Options :
5

Question Number : 108 Question Id : 6116303667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evosnieddd megﬁa

If the radws of a circular wheel 1s 14 cm. then the number of revolutions necessary to

. ¥ , 22
cover a distance of 105.6 meters 1s (Take = 7)

28 TS0 S0 g 14 Do.an. wond 98 105.6 OY B0 DTYTIS

RO FDETI0D] (TI = % TTaVEES mi)

Options :
)
| 120

150

L2

140

20

Question Number : 109 Question Id : 6116303668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSl a»mgﬁa

The largest 3-digit number x satisfying the congruence 3x + 2 = 4 (mod 13) 1s

90000 3x + 2 = 4 (mod 13) D 8,000 980 3-9050 Doy X
Options :

. 987

989

A

&

Qo7
3 007

4 993

Question Number : 110 Question Id : 6116303669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evo&icd s avmgﬁa

For real numbers g and b writea+ b = a®> + ab — b%. If 4 = x = 6 then (x — 2)% =

TP Do a, b axb =a’ +ab—b% 4+ x = 6 9 (x —2)% =

Options :

10
1.

[

14

16

Question Number : 111 Question Id : 6116303670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodapd bvmgsa

The inverse of (p A ~q) = T i1s

(pA~q)— 1 3 D500

Options :
r—(@A~q)

~r = (p A ~q)

B ]

(~pvq)—>~r

Aphg) T

I

Question Number : 112 Question Id : 6116303671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd aomgaa

Consider the statement S:
“HI0<8then2+4=8".

Then S 1s

2o S DOrEdociod.:
*10 < 8 e900063, 2 + 4 = 8 ess)eod”

Options :
True

e o
L

False
'E'_‘J:Q@TSD

]

Either true or false
‘:’b@é{: (in Eﬂ“n)@5m
3.

Not a statement
4 5 QDI BP0

Question Number : 113 Question Id : 6116303672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodapd aomgaa

For any set § let n(S) denote the number of elements in S. If 4, B and C are sets such that
n(AUBUC) =31, n(4) =20, n(b) =16, n(€C) =8, n(ANBNC) =3,

nd NBnc)=2andn(AnB Nnc€)=4thenn(ANBNC)=

D AW § 37 n(S) TS arese Doajdd Arded.  pdden 4, B, C e

n(A“U BUE)=3L; n(8) =20 n(_:h) =16, n(€) =8 n(ANBNC) =3,
n(A NBNC)=2a08wn(ANB NC)=4echgneSn(ANBNC) =

Options :



[ E]

Question Number : 114 Question Id : 6116303673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd bvmgaa

If P(A4) 15 the power set of the non-empty set 4. define a relation R by XRY if and only if
XCcVYforX Y e P(A). the relation R is not

BIRDIB0 DB A IE), ISV P4) eond XY € P(4) &5 XRY e9d Lotyoto

EoCerdS X € ¥ 5mard e Do) &8 Dowodo R 5 G2 &0

Options :
Anti-symmetric
t{!f)"“frgin 0

Transitive
050060

Symmetric

ﬂ“fg&jr}

Reflective
DTPD00

Question Number : 115 Question Id : 6116303674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd avmgaa

The number of mjective functions from a 5-clement set into a 8-element 1s

5-a007)57e) a0 S-JareIsre) DanaS (e e::?f)ss a0l ur{)(};_:!_é

Options :

7
1. 6.‘-

7620

5 6720

762

Question Number : 116 Question Id : 6116303675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodapd avmgaa

The intercept made on the X-axis by the line passing through (3.-5) and (-2.7) 1s

(3.-5), (-2.7) ® oz T WOWE X-0950p D0yGB Garaoco e

Options :
5
11

11

L2

11
12

11
12

Question Number : 117 Question Id : 6116303676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd avmgaa

The equation of the perpendicular bisector of the line segment joining the points (-2, 3)
and (1. -2) 1s

DocspHen (-2, 3), (1, -2) oo 88> Sarpotiay ©0230DALDOERD SarraanEdeo

Options :

bx +3y+4=0
£

< ok artit =1

3x—y+?=D

4.x+y—7f'=[1

Question Number : 118 Question Id : 6116303677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argDodapd bvmgaé

sin? 60° + cos? 225° + tan? 210° + cot® 240° =

Options :
13
12

23
12

12

o | wn

Question Number : 119 Question Id : 6116303678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd &mgﬁa

Foraand f with 0 =@, B < %if cosa =sinf =-thena + 2f =

1
2

0 < a, B«:%Eﬂtﬁ)ﬁ%ﬂnéﬂa,ﬁ EﬁJEDSH=SiIIﬁ=%@Dﬂ@Eﬂ@JCﬂ a+2f =

Options :
T

4

| A

w | H

Question Number : 120 Question Id : 6116303679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd bwmgae:&

tan @ =§=:- tan 28 4 sec 28 =

Options :
7

2

W | e

Question Number : 121 Question Id : 6116303680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd aomgaa

From the top of a building of height 60 feet which i1s on the bank of a river. the angle of
depression of a house on the other side of the river 1s observed to be 60°. The width of the

river (in feet) is
8 O3 Y CATASTEY esﬁl 60 escHbe EDTO Haddo aoct, DTS 20D &K)‘l motd3
bm‘lﬁmo 60°. &5 DO Dy (e9crixes”)

Options :

i 30

2043
3,20

6043

Question Number : 122 Question Id : 6116303681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2B aemgaa

If x—a, x—f and x —y are factors of the polynomial 3x% + 4x2 + 2x + 5 then the

. : 1 T
polynomial having factors x — =T o and x — S

a0dd 3x3 +4x2+2x+58 If x—a, x—f, x —y e rasdd x—%,x—%,

1
X — — e rasreTTiie) aPood
¥

Options :

13 4ixz 41yl
3 4 2 3
Bx? 44x% 422 43

. Bx® +3x2 +4x+ 2

5x? +2x24+4x+3



Question Number : 123 Question Id : 6116303682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd bvmgaa

Ifx2 —4divides x* +ax® + bx? —5x+ 4 thena— b =

x* +ax® 4+ bx? —5x+4 D x% — 4 DI yhorr A D a—b =

Options :

Question Number : 124 Question Id : 6116303683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodapd bvmgae:&

A factor of 2x* — 3x? + 2x — 1, among the following is

2oHarDeS” 2x* — 3x% + 2x — 1 & 2. SoOFoto
Options :

L x+1

x+2

[E%]

Question Number : 125 Question Id : 6116303684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd avmgaa

If (x — 2) is a factor of p(x? + 4). where p(x) 1s a polynomial. then a factor of p(x) is
p(x? +4) & (x — 2) w8 56mrosand 0200 p(x) & ws s*omroso

Options :
(x—6)

l.
9 (x—?j

(x—8)

(x-10)

I

Question Number : 126 Question Id : 6116303685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd bvmgaa

Two numbers are in the ratio 5:6 and when 3 1s added to each of them. their ratio becomes
7:8&. Then the sum of those two numbers 1s

3ot o[ 5:6 D ReS” &) on. TAS” DA 3 £IDA 5B DA T:8 BYBVG

9 C &3 Do) Roafw do

Options :
23

o]
58]

Question Number : 127 Question Id : 6116303686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd anmgaa

If [_31 _22] [;] = [ié] then 3x + 7y =

% FIE] = [L5] oows etnyeo sx + 7y -

Options :
1

Question Number : 128 Question Id : 6116303687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2B aomgaa

If §;,5, and S; denote the sums of the first n, 2n and 3n terms respectively of an

o

arithmetic progression then

R
£
28 e2083¢e5°D DA 1, 2n, 3n HO"O VTV HCIT 57, 55, 53 OF APDD, v
FLE |
Options :
4
1.
3
2.
2
3,
1



Question Number : 129 Question Id : 6116303688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Dok, argodapd &mgsa

If S is the sum of five consecutive even mtegers then the least among them i1s

D DO DBV Ao S 0N €9 Joe3e5° 5233 Doy

Options :
5-20

S—

3

Ln

Question Number : 130 Question Id : 6116303689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DD, 2rgDodapd bvmgaa

The coefficient of x® 1 in (x — 1)(x — 2)(X — 3) e e . (X — 1) 15

(x—1)(x—2)(x —3) e ce. . (x — 1) &° x"7L DEREO

Options :

n{n+l)
. 2

nin+1)
2

L2

nin—1)

_11{ﬂ—1}




Question Number : 131 Question Id : 6116303690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Dok, argodapd &mgﬁa

0

: : ; ; ; L {3x2 1 .
The term independent of x 1n the binomial expansion of (T e 3—) 15
x

5 9
32 1
(i = —) B DYORES® x T Do
2 3x =
Options :
1
27

-2

18

Question Number : 132 Question Id : 6116303691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DD, argodapd bvmgaa
_J2 3 51 _

a=[y 5l=14°1-

Options :

| 64

2. 64

1 32

=32

4

Question Number : 133 Question Id : 6116303692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd &mgﬁa

Ifi2=—1andA = [E’} _Gi] then A—1 =

i @

i2=-1,4=[5 _

i] eo0ndd 471 =
Options :

A
1.

L2

A4

Question Number : 134 Question Id : 6116303693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodapd bvmgsa

v1l+x—y1—x

im, o———=

Options :

-1
1.

[ E]

Question Number : 135 Question Id : 6116303694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2B &mgsa

, d
y=xsinx =2 =
X



Options :

| xcosx +sinx

Xcosx —sinx

[

cosx + xsinx

4 xsinxy —cosx

Question Number : 136 Question Id : 6116303695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd bwmgae:&

If the hypotenuse of a right angled isosceles triangle 1s 8§ cm. then its area. in square
centimeters. is

28 ©oeEH DDAEFTVGEDEY) 0o 8 Do.db. oS o) PTVL0, DO Do.ab.
ee5”

Options :
12

16

(S

Lt
| B

Question Number : 137 Question Id : 6116303696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd avmgaa

In the quadnlateral ABCD. 1t 1s given that AB=40, BC=150, CD=50, £BAD = +ABC =
90° and AD 1s parallel to BC. The perimeter of the quadrilateral ABCD 1s

28 devdnzo ABCD e5° AB=40, BC=250, CD=50, #+BAD = +ABC = 90°, AD 928
BC & Hagroeido €9 @a"am. esg Lﬁmmaaa.o ABCD ﬁ}e&né”e_ﬂ

Options :

N 590

600

L2

620

4 640

Question Number : 138 Question Id : 6116303697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgDodap bvmgaa

A, B and C are three points on the circle with centre O. In AABC if £B = 60°, 2C = 70°
then £BOC =

O Sogom™ (1) yelop A4, B, C en aure Dotospen. AABC e £B = 60°,2C = 70°
es00@d L BOC =

Options :
;1307

100°

-2

Question Number : 139 Question Id : 6116303698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
oD, 2rgodapd avmgaa

The length of the median through 4 of AABC where A(4. 2). B(6. 5) and C(1. 4) 1s

A(4.2). B(6.5), C(1. 4) ©900B AABC &§° 4 orordl’od sneyio S e

Options :
l e \E
VI
S
: V13
Vi3
4. 2

Question Number : 140 Question Id : 6116303699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddon, argDodapd bvmgae:a

If A(4. 1). B(7. 4). C(13. 2). D(x. y) are the vertices of a rectangle ABCD then (x.y) =

A(4.1). B(7.4). C(13. 2). D(x. y) en Aguenspo ABCD 3greond ey (x. y) =

Options :

| (10.5)

(10. -5)

L2

(-10. 5)

, (-10.-5)

Question Number : 141 Question Id : 6116303700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
aﬂna_:-'gé 3‘5302,5@

The mean deviation of the scores 3. 5. 7. 9. 11 and 13 from their arithmetic mean 1s

ﬁﬁbd}m 3.5,7.9,11, 13 ® e908206§a00 ~00L) DGS{HIE Jdo

Options :

0
1,

[ ]

L |

Question Number : 142 Question Id : 6116303701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
aﬂnﬂ_lﬁé .%nmg'sa

In 12 consecutive odd numbers the arithmetic mean of the first five numbers 15 85, The
difference of the medians of the first five numbers and the last five numbers 1s

12 H0% 82 “;aoa}:!ée_leffﬁ ACE B0 R0D[L 905G 0 85, 9D 2VGE) DD

"raoa:n}gu Eilal{glalsp waf e90006) ?aoa;su DE§IS0 © 350
Options :

;.
? 12

13

-2

14

15

Question Number : 143 Question Id : 6116303702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
aﬂna_:-'gé .%umg'sa

The mode of the following observations 1s:

14, 21, 64, 78,42, 21, 39,42, 21, 18, 17, 21, 10, 21

206 HBFOH eraTPOPLo:

14,21, 04, 78,42, 21,39, 42, 21. 18, 17, 21. 10, 21

Options :
14

39

Question Number : 144 Question Id : 6116303703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
éﬂna_:uﬁé &hmg'sa

If o 1s the standard dewviation of xy, X3, .........X,; then the standard deviation of 9 +
I 3 D3N 1S

X1, X3, wer en o Xy © B2DDOVN0 0 000D 9 + 3x1,9 + 315, ... ... .. 9+ 3%, © SadDDVR0

Options :

L 3T

30+9

L-2

3g—3

V9ag< + 3

Question Number : 145 Question Id : 6116303704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
aﬂna_:-aé %umg'sa

The variance of the first five odd natural numbers 1s

QG HED B DaPRV0DR JYPD

Options :
3

o

1.

b3]

2y

L2

Question Number : 146 Question Id : 6116303705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
Jroys .%nmg'sa

The rank correlation coefficient » of a distribution lies 1n the interval

28 DeTrerd)) §6 Rirnorodmnso r Dens Gol 906350

Options :
(-1, 0)

(-co, 0)

L2

(-1. 1)

(1, 00)

Question Number : 147 Question Id : 6116303706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
%ﬂna_:n‘gg anmg'sa

A box contains nine tickets numbered 1 to 9. If 3 tickets are drawn from the box one at a
tume, the probability that they are alternatively either odd. even. odd or even. odd. even 1s

208 263e5° 1 Sood 9 ﬁom&m.ﬁl ﬁﬁ}éﬁ E;'}Ee.na“;lm). e3 338 oG 28 P SO
4 ) L ]

28T 3 O30 dows D 09D 8, 1O, SY DoJOTT); 1O, B, W8 Do

e:lcﬁaé P05

Options :
5

42
L

10
63

Question Number : 148 Question Id : 6116303707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
%una_:‘gg avmgsa

A number 15 chosen at random from the first 100 natural numbers. The probability that the
chosen number 1s divisible by 7 1s

206 100 Jrore Do A0l OIPEINSOTT L8 D08 JoDE BIMW. &3 oD

urﬂﬁa)ﬁ 7 @ erfoned ‘&)0&.‘;"&‘)5@

Options :
7
100



Question Number : 149 Question Id : 6116303708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
Froys %nmg'so:a

If A and B are independent events such that P(AN B) = % P(B) = % then P(4) =

11

. . _i § s
R autden A, B en P(ANB) = = ,P(B) = -

eoadgt08] Ny P(4) =

Options :
3
11

Question Number : 150 Question Id : 6116303709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

If three unbiased coins are tossed then the probability that at least two comns give heads 1s

Q0P AaryE S TEFOD ADODY 80 Tod) TEFwR 7Y D3y Dogrdge

Options :
1

2



== W

]

1
4
3
3
8
4
Communication Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 6116303710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

umportunate
Options :

| DPersistent
. neglgible

poor

definitive

o

Question Number : 152 Question Id : 6116303711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

decorum
Options :

| decoration

. behavior



s propriety

justice
4.1

Question Number : 153 Question Id : 6116303712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

connoisseur
Options :

| officer

commander in chief

lieutenant

(B ]

enthusiast

Question Number : 154 Question Id : 6116303713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

subsist

Options :
;. hide

keep alive
hold

give in

Question Number : 155 Question Id : 6116303714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

enfeeble

Options :

1 chncourage



animate

L2

_ debilitate

(W]

enable

ey

Question Number : 156 Question Id : 6116303715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:
myriad
Options :
; measurable
limited

5 countless

morbid

=

Question Number : 157 Question Id : 6116303716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

He took a of beer.

Options :
| drafting

. draught

drought

L

aft

e

Question Number : 158 Question Id : 6116303717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

This region 1s known for 1ts vegetation.

Options :

1 luxurious

luxuriant

L2

3 rampant

heavy

Question Number : 159 Question Id : 6116303718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

We must from smoking.

Options :

abstain

forbear
quit

Ve u
4 J P

Question Number : 160 Question Id : 6116303719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

It 1s difficult to these old documents.

Options :
| Aaggravate

authenticate

L2

3 anoint

4 ambush



Question Number : 161 Question Id : 6116303720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

In IP address. IP stands for

Options :

Information Protocol

Internet Programme

Internet Protocol

4 Informed programmer

Question Number : 162 Question Id : 6116303721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

15 a mobile operating system developed by Google

Options :

; 108

3 Androad

: Windows

Lad

MS-DOS

Question Number : 163 Question Id : 6116303722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The smallest unit of a digital image that can be displayed on a digital display device 1s

Options :

| digit

. pitch



5 pixel

point

Question Number : 164 Question Id : 6116303723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

MMS stands for

Options :

1 Multimedia Message System

Multimedia Messaging System

L2

Multiple Message Sender

(&3]

Multimedia Messaging Service

Question Number : 165 Question Id : 6116303724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
Compressing one or more items 1nto a smaller archive 1s called
Options :

; merging

zipping
zapping

7 clubbing

Question Number : 166 Question Id : 6116303725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Comparing one’s products /services to those of competitors in order to improve quality and
performance 1s called

Options :



benchmarking

standardization

cauging

sealing

Question Number : 167 Question Id : 6116303726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The monetary authority of our country is the

Options :

Central Bank of India
1.

Reserve Bank of India

~ SEBI

Lad

. Finance Ministry

Question Number : 168 Question Id : 6116303727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

In the sale or supply of goods or services. something that 1s ready for immediate use 1s

called

Options :
automation

turnkey

customisation

=

ready solutions

o



Question Number : 169 Question Id : 6116303728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The written record of what 1s said at a meeting 1s called

Options :
| speeches

agenda

L2

y proceedings

minutes

o

Question Number : 170 Question Id : 6116303729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A person who buys shares i companies hoping the price will rise. so that they can be sold
later at a profit 1s

Options :
; a bull

a bear

[

a stag

a vendor

Question Number : 171 Question Id : 6116303730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

*Had he not been a dreamer. he would not have gone this far”. The statement implies that

Options :

he dreamt too much

he always dreamt that he ran very fast



3 he wasted his time i daydreaming

his 1deas have helped him get ahead

Question Number : 172 Question Id : 6116303731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

I am afraid you will have to put up this inconvenience.

Options :
1 011

about
3 &

with

Question Number : 173 Question Id : 6116303732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Let us do it ourselves expecting the government to do it for us.

Options :

for the sake of

mnstead of

L2

on behalf of

L

in spite of

iy

Question Number : 174 Question Id : 6116303733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

We thought Sindhu would lose the match but she scraped through in the final set. The
underlined phrase means that she

Options :



succeed easily

lost the match

lost interest in the final round

succeeded with great difficulty

Question Number : 175 Question Id : 6116303734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

He asked me, “Have you seen that film?"” The sentence may be rewritten in mdirect speech
as: He asked me

Options :

1 if he had seen that film

if he saw that film

1f T had seen that film

if T have seen that film

Question Number : 176 Question Id : 6116303735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

To look after the transport. special officer has been appointed.

Options :
] the

a1
a

4 1o article



Question Number : 177 Question Id : 6116303736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

I Rawvi since 1993,

Options :

;. know

knew

have known

Lad

; was known

Question Number : 178 Question Id : 6116303737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

He felt that he by his own people.

Options :

1 cheated

1s cheated

L2

: had been cheated

, Was cheaten

Question Number : 179 Question Id : 6116303738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

I am thinking a novel,

Options :

1 to write

- of write



5 writing

of writing
4.

Question Number : 180 Question Id : 6116303739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

If you cames regularly. you would become strong and healthy.

Options :
| played

play

-

-2

. had played

5 would play

Question Number : 181 Question Id : 6116303740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

Many accidents rash driving.

Options :

cause
1.

are caused
, are caused by

caused by

Question Number : 182 Question Id : 6116303741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

The child was short to reach the top shelf.

Options :



50

, Very
SO VEry
3
too
4.

Question Number : 183 Question Id : 6116303742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

We went to the park

Options :

1 by walk

on foot
5 by foot

, on walk

Question Number : 184 Question Id : 6116303743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

Can you tell me ?

Options :

Where can I find him
l.

Where can he be found

o]

s Where I can find huim

; Where him can I find



Question Number : 185 Question Id : 6116303744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

His apology took the edge off her anger. The underlined phrase means that his apology

Options :

| made her more angry

did not have any effect on her anger

: made her wildly anger

lessened her anger

Question Id : 6116303745 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)
Question Label : Comprehension

Read the passage below and answer the following questions

Mascow 1s the world’s most expensive city for expatriates followed by Tokyo
which also 1s Asia’s most expensive city.

The cost of Living Survey 2008 has shown Mumbai and New Dellu taking the
bottom two spots of Asia’s ten most expensive cities. Mumbai is on 48" spot in the world
wide list and New Delhi is on 55® spot. New Delhi incidentally shares its 55™ spot on the
list with Los Angeles.

The survey covers 143 cifies across six contments and measures the comparative
cost of over 200 items m each location mcluding housing. transport, food. clothimng.
household goods and entertamnment.

It 1s the world’s most comprehensive cost of living survey and 1s used to help
multinational companies and governments defermine compensation allowances for their
expatriate employees.

Sub questions

Question Number : 186 Question Id : 6116303746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word means “persons living outside one’s own country™?

Options :



I multinationals

world-wide list

-2

expatriates

across continents

Question Number : 187 Question Id : 6116303747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among the following, which city 1s the most expensive i the world?

Options :

| New Delhi

~ Los Angeles

L-2

Mumbai

Y]

Tokvo
4. =

Question Number : 188 Question Id : 6116303748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s Mumbai’s rank in Asia’s ten most expensive cities?

Options :
i ninth

- tenth

second

first
4.

Question Number : 189 Question Id : 6116303749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which item 1s not mentioned 1n the passage for measuring the comparative cost of different
items?

Options :



| transport
education

entertamnment

household goods

Question Number : 190 Question Id : 6116303750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whom does the survey help the most?
Options :

1 people living 1 143 cities of the world

, multinational companies and governments

3 tourists travelling to difficult cities in the world

expatriate employees living 1n Asia

Question Id : 6116303751 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)
Question Label : Comprehension



Read the passage below and answer the following questions

Stories have survived for centuries in the form of folklore because man never tired
of hearing them repeated. Children still delight in stories told to them by their elders, and 1t
may well be that a prunary motive for learning to read 1s the msatiable desire of a child for
more stories than his parents or grandparents can supply. Narration, as a mode of discourse.
arises from the universal desire of human beings to hear a story, whether 1t 1s new or old.
The media of mass communication — television, radio, moving pictures — have vastly
multiplied the means of satisfying this desire. but have added little to the art of narration
itself.

Good narration depends upon sequence, unity and pomt. The mmagined sequence
must be chronological. for narrative must present actions in time. The written sequence,
however, does not have to be in the same order as the imagined sequence — often. 1 fact . a
story may start i the nuddle. “flash back™ to earlier related events, and then conclude with
later events that give a sense of resolution there 1s a sense of past. present and future to
keep the action going, to give the reader that feeling of pace which 1s so vital in keeping his
mterest alive.

Sub questions
Question Number : 191 Question Id : 6116303752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
What 1s the main reason for a child to learn reading?
Options :
elder’s msistence

7 the child’s desire to follow the media

s the child’s great desire for more stories

4 the child’s desire to do well at school

Question Number : 192 Question Id : 6116303753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Which word means “too great to be satisfied™?

Options :

imagined

universal

, multiplied



4 msatiable

Question Number : 193 Question Id : 6116303754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which statement 1s true according to the author?
Options :

1 People want to hear only old stories

People want to hear stories either old or new alike

L2

People like stories with a flash back

s People do not like folk tales

Question Number : 194 Question Id : 6116303755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The media of mass communication has the art of narration.

Options :

1 improved

adversely changed

]

lowered the quality of

kal

not contributed much of

Question Number : 195 Question Id : 6116303756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1s not stated as essential for good narration?

Options :
; flash back

point

L-2

unity

L



4 se(ueice

Question Id : 6116303757 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Question Label : Comprehension

Read the passage below and answer the following questions

Man 1s the Reasoning Anumal. Such 1s the claun. I thik 1t 1s open to dispute.
Indeed. my experiments have proven to me that he 1s the Unreasoning Amimal. In truth,
man 1s mcurably foolish. Simple things which other anunals easily learn, he 1s incapable of
learning. Among my experiments was this. In an hour I thought them to be friends with a
rabbit. In the course of two days I was able to add a fox, a goose. a squirrel and some doves
and finally a monkey. They lived together in peace. even affectionately.

Next. in another cage I confined an Irish Catholic from Tipperary, and as soon as
he seemed tame [ added a Scotch Presbyterian from Aberdeen. Next a Turk from the wilds
of Arkansas: a Buddlust from China: a Bralunan from Benares. Fially, a Salvation Army
Colonel from Wapping. Then I stayed away for two days. When I came back to note
results, the cage of Higher Amimals was all right, but in the other there was but a chaos of
gory odds and ends of turbans and plaids and bones and flesh-not a specumen left alive.
These Reasoning Anumals had disagreed on a theological detail and carried the matter to a
Higher court.

Sub questions

Question Number : 196 Question Id : 6116303758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The writer the view that man is a reasoning animal

Options :

believes in
puts to test

; endorses

Proves

Question Number : 197 Question Id : 6116303759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which description of man 1s Not true according to the author?

Options :



He 1s wise.
. He 1s foolish.

3 He 15 unreasoning.

He is incapable of learning.

i oS

Question Number : 198 Question Id : 6116303760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The higher animals referred to in the passage are

Options :

; monkeys

human beings

animals

L

rabbits

B

Question Number : 199 Question Id : 6116303761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What did the writer find when he went for noting the results?
Options :

All animals dead

Both humans and animals dead.

. Some lower animals and humans dead.

All humans dead.

Question Number : 200 Question Id : 6116303762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The “Higher Court” refers to

Options :



o]

the Supreme court

the High court

the trial court one goes to after death

The jungle court
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